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.n ≥ 5  A� �Ð� Xq�¤ �Ð� ¨�wtl�A¡ �FC Cn : � 
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(�A�C 10) :��A��� ��¥s��

.(x+ y + z + w)8 �wkfm�� ¨� x5w3
��A`� d� .� .(1)

.(x+ y + z)50 �wkfm�� ¨�  ¤d���  d� d� .


.X1 +X2 +X3 +X4 +X5 = 11 T� A`ml� Tb�As�� ry� T�y�O�� �wl���  d� d�¤� .� .(2)

X1 +X2 +X3 +X4 +X5 = 11 T� A`ml� Tb�As�� ry� T�y�O�� �wl���  d� d�¤� .


.X2 ≥ 4 ,X1 > 1  A� �Ð�

.X T�wm�ml� 2 Ah¶�z��  d� ¨t�� �A¶z�t�� d�¤� ,X = {a, b, c, d, e} �kt� .� .(3)

.5 A¡r}An�  d� T�wm�m� 2 Ah¶�z��  d� ¨t�� �A¶z�t��  d� S(5, 2) �tntF� .


.3 �� ©¤As§ ¤� �� r�}� Ahn� �� º�z�� Y�� 5  d`�� �A¶z��  d� d�¤� .� .(4)

.r��±� Yl� �ºz� 3 Y�� 5  d`�� �A¶z��  d� d�¤� .
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